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ENGLISH VERSION (5) Explain the concept of Compounding and Discounting
in brief.

Instructions : (1) Figures to the right indicate marks of the (6) Find out correct answer :

question. - (1) Both the future and present value of a sum of
(2) Necessary working should form part of answer. money are based on :
(A) Interest Rate

1  Give the following answers : (any four) 14 (B) Time period
(1) " Raj uses is as follows : Standard costing system. (C) Both (A) and (B)
Production information of July, 2018. (D) None of these

Standard : 12_ dkg -materlal is required for 10 kg (2) The purchase department manager is usually held
production. accountable for the :
Standard price of material is Rs. 5.50 per kg.

Actual production 3,000 kgs.
Material utilized Rs. 18,000

(A) Direct material price variance
. (B) Labour efficiency variance

Find out :
(1) Material Usage Variance

(C) Direct material usage variance

(D) Labour rate variance
(2) Material Price Variance . . ' A
(3) In which method discounted factor is highly

(2) What sum of money invested at 6% compound interest
necessary ?

for 12 years will amount to Rs. 20,120 ?

(3) A company wants to buy a machine costing Rs. 8,00,000
which is useful life of 5 years. Tax rate is 50%. The
profit before depreciation and tax are as follows :
Rs. 3,00,000, Rs. 2,80,000, Rs. 2,50,000, Rs. 3,00,000
and Rs. 3,60,000. Find out average rate of return.

(A) Average rate of return

(B) Internal rate of return

wod duruonduy mmm//:sdny
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(C) Earning per share
(D) Net present value

. (4) For, A Company Limited monetary assets and
(4) From the data given below, calculate the Monetary paiy v

v ) t iabiliti i . 1,00,
Working Capital Adjustment. monetary liabilities remained at Rs. 1,00,000 and

Rs. 2,00,000 respectively d.uring the whole year.

Particulars 01-01-2018| 31-12-2018 During the same period prices increase by 20%.

Accounts Receivable 5.00,000 9,00,000 Compute the general price level gain or loss.
(A) Monetary loss Rs. 40,000

Accounts Payable 3,60,000 3,90,000
(B) Monetary gain Rs. 20,000
Price index for Materials 120 130 (©) Monetary gain Rs. 30,000 "
Price index for Finished Goods 100 150 (D) Monetary loss Rs. 20,000
AF-886 ] [ Contd... AF-856 | o 10
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2 Give the following answer :

(a)
(b)
()
3 (a)
(b)
AF-856 ]

Ashok wants to invest Rs. 1,00,000 for 5 years.

(1) He may invest the amount at 12% bér annum

compound interest accruing at the end of each '

quarter of the year.

(2) He may invested it at 13% per annum compound

interest accruing at the end of each year.

Which investment will give him better return ?

If Hetal invests Rs. 5,000 every year starting from 5

the beginning of the year 2013 to 2018, the rate of

interest is 12%. What is the amount he will receive

at the end of the year 2018 ?

Alka has borrowed Rs. 3,79,100 to be paid in 5 equal 4

annual instalments (principle plus interest), the rate

of interest is 10%. Find out annual instalment amount.

From the following information compute :
(1) Material cost variance

(2) Material price variance

3 Material usage variance .

Quantity of materials purchased 6,000 units
Value of material purchased Rs. 18,000

Stahdard quantity of materials required per

ton” of output 60 units

Standard rate of materials Rs. 4 per unit.

Opening stock of materials is NIL.

Closing stock of materials 1,000 units.

Output during the period 100 tonnes.

Explain the limitation of standard costing.
OoR
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3  The following was the composition of a gang of workers 14

in a factory during a particular month, in one of the

ERTO "
productiofl'departments. The standard composition of workers

and wage rate per hour were as below :

X

2 workers at a standard rate of Rs. 10 per hour each.

Y

4 workers at a standard rate of Rs. 6 per hour each.

Z

4 workers at a standard rate of Rs. 4 per hour each.

The standard output of the gang was 5 units per hour of

the production. During the month however the actual

composition of the gang and hourly rates paid were as under.

Nature of No. of Wage Rate paid per
workers Workers worker per hour
engaged
X _ 2 10
Y 3 7
y/ - 5 . 5

The gang was engaged for 100 hours during the month which

included 6 hours when no production was possible. Due to

machine break-down 405 units of the product were recorded

as output of the gang during the month.

Calculate the following variances :

1)
@)
@
@

AF-856

Labour cost variance

Labour rate variance

Labour efficiency variance o

Idle time variance

12
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dayesh Ltd. thinks to launch a project. For this two

alternative plans are available. For each plan initial
investment will be Rs. 10,00,000. An estimated, life of each
project is 5 years, The straight line method is used by the
company to provide depreciation. The tax r;ate is 50%.
Annual cash flow (before depreciation and tax) is as follows :

Machine 1 2 3 4 5
X 4,00,000 | 3,00,000 | 3,00,000 6,00,000 | 3,00,000
Y _ 3,00,000 | 6,00,000.] 3,00,000 { 4,00,000 | 2,00,000

Evaluation both the project plans on the basis of the
following methods :

(1) Pay-back method.

(2) Average rate of return

" (3) Net present value

The present value of Rs. 1 at the discount rate of 16% for
the first five years : '

Year 1 2 3 4 5

AF-856 | 13

15% (0.870 | 0.756 | 0.658 | 0.572 | 0.497
OR"

Soham Ltd. has two projects §I' which the details

are as below : v

(1) Proposal — A and Proposal B : The initial investment

is Rs. 21,00,000 for each proposal and scrap value is
Rs. 1,00,000 at the end of the life of 5 years.

(2) Estimated profit (before depreciation and tax) is as
under : '

14

14

Years ‘1 2 3 4 5

Proposal-A | 6,00,000]5,00,000|7,00,000 | 8,00,000 |6,00,000

Proposal-B 8,00,000 7,00,000{8,00,000 {10,00,000{8,00,000

https://www.hnguonline.com
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The company charges depreciation on straight. line
methed and the rate of taxation is 50%.

The directors has decided by considering risk factors,
the rate of 10% capital cost for the project — A and
12% capital cost for the project — B.

Determine using ':

(1) Pay-back period method

(2) Profitability Index Method

Which of the two proposals should be accepted?
The present value of Rs. 1 for first five years at 10%
and 12% p.a. is as follows :

Years 1 2 3 4 5

10% 0.909 0.826 0.751 0.683 0.621

12% 0.893 0.797 0.712 0.636 0.567

5 The balance sheet of Swati Ltd. as on 01-01-2018 is as

under : ' 7

Liabilities Rs. | Assets Rs.

Share Capital 9,00,000 | Fixed Assets 8,00,000

Reserve 2,00,000 | Stock 2,00,000

15% Debentures 1,00,000| Cash and Bank . 1,00,000

Creditors 2,00,000 | Debtors 3,00,000
14,00,000 --1 14,00,000

Other Information : . :

oY

2)

6))

AF-856 ]

‘During the year 2018, total purchases, sales an
operating expenses were Rs. 4,00,000, 5,50,000 and Rs.
90,000 respectively.

15% debentures issued of Rs. 1,00,000 on
01-07-2018.

Debenture interest for the year was paid“'on 318t
December, 2018. :
14 T [ Contd...
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(4) On 31° December, 2018 the balances of Stock, Debtors
and. Creditors were Rs. 3,00,000, Rs. 3,50,000 and Rs.
3,00,000 respectively,

(5) Depreciation of Fixed Assets is to be provided at 10%
per annum.

(6) Stock is valued as per FIFO method.

(7) General price indices were as follows :

On 1%t January, 2018 ...........o.......... 100
On 31% December, 2018.................. 132
Average for the year........................ 110

Prepare final account for the year 2018 under historical cost
method and current purchasing power method.

OR

5 Give the following answers : - 5

(1) A company purchased a new machine for
Rs. 7,00,000 on 1% January, 2013. Its expected life was
estimated at 10 years. A similar machine could be
purchased for a sum of Rs. 11,00,000 on 01-01-2018
and Rs. 13,00,000 on 31-12-2018. You are required to
calculate the amount of depreciation to be charged in
the accounts of 2018. Also calculate the backlog
depreciation in the accounts of 2018,

(2) From the following information of Romal Ltd. as on 6

31-3-2018, calculate the Gearing Adjustment under
Current Cost Accounting method.

Particulars 01-01-2018 | 31-12-2018
Paid-up share capital 6,00,000 | 10,00,000
Profit and Loss Alc. 4,00,000 5,00,000
Bank Loan 1,00,000 2,00,000 -
" 12% Debentures - 2,00,000 2,00,000
Provision for.Ta;_mtion 1,560,000 . 2,50,000
Cash and Bank 2,50,000 3,50,000
AF-866 ] 15 ~{ Contd...

https://www.hnguonline.com

wod duruonduy mmm//:sdny

woodurjuonduy mmm//:sdny

https://www.hnguonline.com

Calculate the Gearing Adjustment as per CCA.

T

3

2

Cost of Sales Adjustment Rs. 1,00,000
Depreciation Adjustment Rs. 50,000
Monetary Working Capital

Adjustment Rs. 10,000
Total of Adjustment Rs. 1,60,000

(3) From the following particulars, calculate Cost of 3
Sales Adjustment :
Particulars Historical Rs.|Index
Opening Stock 1,00,000{ 100
Purchases during the year 9,00,000 125
10,00,000
Less : Closing Stock 3,00,000 150
Cost of goods sold 7,00,000
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